SAT PREP

Unit circle and trigonometric ratio

sin © cos © tan & cot & sec @ csc 0
0° = On—2n 0 1 0 1
30° = w6 12 32 J3/3 J3 243/3 2
45° = m/4 2fa | 2fa 1 1 V2 V2
60° = /3 J3/2 1/2 J3 J3/3 2 2/3/3
90° = /7 1 0 - 0 - 1
120°=2n/3 | 32 12 3 ~V3/3 -2 243/3
135°=3mn14 | 22 ~2/2 -1 -1 -2 V2
150° = 57/6 1/2 -3/ —3/3 e -243/3 2
180°=n 0 -1 _0 e -1 =
210° = T/ -1/2 32 J3/3 J3 2433 -2
225°=5m/4 | —[2/2 ~J2/2 1 1 B 2
240°=4dn/3 | —f3/2 -1/2 3 J3/3 -2 -2:/3/3
270° = 3n/2 -1 0 --- 0 = -
300°=5m/3 | -3/ 1/2 ~3 ~\3/3 2 -243/3
315°=Tm4 | 2/ V2/2 -1 -1 2 2
B°=11me| -2 V3/2 —3/3 -3 24/3/3 ~2

=== undefined





